Integration By
Partial Fractions

To find; | ALX) iy
P(x)
(1) If degA(x)> degP(x), perform a division

(2) If degA(x) < degP(x), factorise P(x)
a) for linear factor (x—a), write ia
X —
b) for multiple linear factors (x—a)", write

A B C
+ +...+

(x—-a) (x—a) (x—a)"

c) for polynomial factors e.g. ax® + bx + ¢, write

Ax+ B

ax’ +bx+c
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¥ (x? +1) (x+1)+(x+1)2+(x2+l)_(x+l)2(x2+l)

A(x+1)(x? +1)+ B(x? +1)+ (Cx + D)x +1)* = X

Xx=-1 X=I
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+ dx s
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—(x+1)"

s

+tan™ x}+c

Exercise 2G:
1,3,5, 7to 21

= +tan™ xj+c
X+1
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